107!

1072

107

pan

Bev

r%i[am
4 7 Py

—

[y
||||i|||||

0.95,

-10-8 6 -4 -2 0 2 4 6 8 10

[ pull of @parameter

107}

1072

Ratio

1073

| SN N WE TN

B9 -8 =

6 4-20 2 4 6 8 10

[ pull of dxy parameter

107}

1072

.:%

0-B15=g =

6 4 -2 0 2 4 6 8 10

[ pull of goverp parameter |

res

-0.

onst%%t
ean —09]
ma

107!

1072

107

pull of B parameter |

107}

1072

1073

R i '.'.'.;';"..\*ﬁj:-':ﬁ':ﬂ'

OB0=8g =6 =4 =2 0 2 4 6 8 10

[ pull of dz parameter |

107}

1072

P08 6 4 20 2 4 6 8 10




	Contents
	Page 1


